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Senior Secondary Examination, 2024
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Model Paper
fawa — e

Sub : Accountancy
|HY : 03 HUC 15 e quTieh : 80

General Instructions to the Examinees

1. GRIeTefl FdYeA U URH—UF S7UAT AR Iffardd: ford |
Candidate must write first his/ her Roll no. on the question paper

compulsorily.
2. 1 e &R Sfard B |

All the question are compulsory.

3. U U Bl IR ol Ty SR—GRGT H &1 fod |
Write the answer to each question in the given answer-book only.

4. TS gl ¥ 3=<iRep WUS &, I W & SR U A1 &I o1 |
For questions having more than one part, the answers to those parts
are to be written together in continuity.

5. Ue—UF & Bl 9 IS HURY H Bl ydR @ Ffe /3R / faRiemma g
R BT 919 & U & &1 Hel A |

If there is any kind of error/difference/contradiction in the hindi

and english versions of the question paper, the question of hindi

version should be treated valid.

6. U B IR ol | d U &1 HHid aed ford |

Write down the serial number of the question before attempting it.



YUs — I
Section - A
IEfAHT U : (i ¥ xv)
= geAl & IR BT He! [Adbed a9 B STR—YRaadT H oy |
Multiple Choice Questions: (i to xv)
Answer the following questions by selecting the correct option and write them in

the answer sheet.

i) YM 9 TAH F HHA: 50000 YUY Td 60000 HUY DI YO TIATHY ATUR YR
fhar| ArEer fdokg & oM H 89 aFI # fdare @ Rofd § 99 & ofd #

-8 & deary fo sgurd | o STRiRm 2 (1)
) 56 d) 65
) 1 3T) TH A IS e

Ram and Shyam started business with a capital of Rs. 50000 and Rs. 60000 in
which ratio profit or loss will be distributed at the end of the year in disputed
situation in the absence of partnerships deed?

A) 56 B) 65

c) 1 D)  None of the above

ii) M 3R HIET 32 H oMl BT §CIRT S U AISIGR T | S=I AT Bl 1/5
TR @ ford yawr fear 91 S99 gof wu 9 e+ 9 Ui fhar | AgaEd e

HIE BT A1 ™ TSI SaTa 8T 2 (1)
) 321 q9) 322
) 2:2:1 3 31

Rohan and Sohan are partners sharing profits in the ratio of 3:2 They admitted
Mohan for 1/5™ share which he takes fully from Rohan. New Profit sharing ratio of
Rohan, Sohan and Mohan will be?

A)  3:2:1 B) 3:2:2

Cc) 2:2:1 D) 3:1:1

iii) B4 & BT FEER & Y 81 W DT WRI BT AY SR



fepam SR — (1)
3) ¥d AEER & Yol @ 9 Y 9EER & Yol @ ¥
H) T AERRI S Sl Edd ] 398 I DIy o

At the time of death of any partner of the firm, the balance of revaluation account

will be transferred to-
A) Deceased Partners Capital A/c B) Remaining Partners Capital A/c
C) All Partners Capital A/c D) None of the above

iv) A, B, Td C U %H # oM™l &I 54:3 ¥ dicd 8¢ WEIGR & | B @ Har-ghl
qead A 7 C &I T3 A 39S S urd 11 2| BRI BT 3Tgurd a1

BT ? (1)
) 53 q) 43
) 13 ] 14

A, B and C are partners sharing profits in the ratio of 5:4:3 On B's retirement the

profit sharing ratio of A and C is 1:1 What will be gaining ratio?

A) 53 B) 43

C) 13 D) 11
V) BH & FHUE IR Udh AEIAR Q9 §RT ®BAMER 15000 w9 # foram am | S
gfdfte grfl— (1)

37) fa&=Ter &7 Yol &Tar A 15000 WU TAT Il SIAT ST 15000 B9
) HeieER @Il | 15000 HY AT f&19T &7 Yoil @rar S 15000 B9
) AT WTAT A 15000 WUY TAT (&% BT Yol Gl ST 15000 w0
T) f&=Ter &1 4ol @rdr M 15000 BUY TAT BeiTeR Tl STAT 15000 w0

On disolution of firm a partner Dinesh taken furniture at Rs. 15000 Journal Entry will be

A) Dinesh's Capital A/c debited Rs. 15000 and realisation A/c credit Rs. 15000
B) Furniture A/c Debit Rs. 15000 and Dinesh's Capital A/c credit Rs. 15000
C) Realisation A/c debit Rs. 15000 and Dinesh's Capital A/c Rs. 15000

D) Dinesh's Capital A/c Debit Rs. 15000 and furniture A/c credit Rs. 15000

vi) 98 Uoll Sl ddel HF & FH99 U= AT Sl § Sl 8 — (1)
o) STl o 9 SR ol
|)  goar goh q)  fFrifaa ool



The capital which is called up at the time of winding up of company is called-

A)  Authorised Capital B)  Reserved Capital

C)  Paid up Capital D)  Issued Capital
vii) 0T UHl & gec WR AT R OR BIAAl @ral | R — (1)
3) T UH HTl §) WU UA & AT OR 9T @l

W) SWRIGT 1 T g g T) SWRIGd H A PIs T8I

Which account debited on issue of debentures at discount -

A)  Debentures A/c B) Discount on issue of debenture A/c
C) BothAandB D) None of the above

viii) AT o=l 9 oifds @ ford emded Ui 8 @ Rerfa & w'd 28— (1)
3 e 9) g
q) g e ])  fERIfE

Application received in excess of issued debentures is called -
A)  Subscription B)  Semi Subscription
C)  Under Subscription D)  Over Subscription

ix) T ITael TIcf g & — (1)
) 11 q) 21
q) 12 T 31

An ideal current ratio is -

A)  1:1 B) 2:1

C) 12 D) 3:1
X) B0 fhd T T & YHHTHA B UTEd IfLERV Wi b AY Bl ... Grd

H graRd fdar Ser 8 — (1)

) AT 9 T H q) o9 B FH™oE @rdr |

|) Yol Feg @rar | 3) gfovfa NAaH RiE @ H
After reissue of forfeited shares the balance of share forfeited account is
transferred to............. Account -

A) General Reserve Account B) P & L Adjustment A/c

C) Capital Reserve Account D) Security Premium Reserve A/c



xi) A, B, C, faifics 9 100 S dTel Yuiyesd 5000 09 10% WA WR
ftas f5a | ot Feoro=l @ ford amdes Ut 81 U | :ded it @ foru
yfafte grfi— (1)

31) VYA @IdT A 500000 wUY, YfHfr WIATH |9 @rdar A1 50000 B4
AT I WIAT ST 550000 /U
q) d% QT AT 550000 WYY TAT FOMUS MG @IAl STHT 550000 B

H) I WAr A 550000 WO TAT FUTAH WAl STAT 500000 WU g Yifd
WIRM F9d Qa1 ST 50000 HUY
T) &% WIAr AW 500000 WY YT NIHIH §99 GIAT A1 50000 HY TAT

FOTY WTdT STHT 550000 HU

A,B,C Ltd issued 5000 fully paid up debentures of Rs. 100 each at a premium of
10% Application received for all debentures, Journal Entry will  be for
application money -

A) Debentures A/c debit Rs. 500000, securities premium reserve a/c debit Rs. 50000 and
bank a/c credit rs 550000

B) Bank a/c debit Rs. 550000 and debentures application a/c credit Rs. 550000

C) Bank A/c debit Rs. 550000 debentures a/c credit Rs 500000 and securities premium
reserve a/c credit rs 50000

D) Bank A/c debit Rs. 500000, securities premium reserve A/c debit Rs 50000 and
debenture A/c credit Rs 550000

xil) FO & oy faaxer & enfae 8- (1)
3) AW I+ fdeRor q)  dbs yarg fdeaRor
|)  dod ud 3) SWREd I

Financial statements of a company includes -
A)  Profit & Loss Statement B) Cash Flow Statement
C) Balance Sheet D) All of the above
xiii) T/ # | Ads I HT ISR T — (1)
31) AT BT Adbs fAhd  9) AT BT Adbs by
) H1 BT T q) R HeieR BT IR Ay
From the following the example of cash outlaw is -

A)  Cash Sales of Goods B)  Cash Purchase of Goods




2)

C)  Goods given as Charity D)  Sale of Old Furniture on credit

xiv) 71 & 1 ared fhardema | diedt far enfie 981 8 °? (1)
) AT DI q) HHARAT BT dqT BT YA
d) AT © $HY R YT gecl T) 9aT BT B

Which of the following is not an operating Activity?

A) Sale of Goods B) Salary paid to employees
C) Discount received on purchase of goods D) Purchase of Building
xv) b€ Ud e Jedid H FHAfold BidT & — (1)
) RAds Y q)  dF H o
J)  3UdIel fIaeT T)  SWRad gl
Cash and Cash Equivalent includes -
A)  Cash Balance B) Bank Balance
C)  Short term investment D) All of the above

Read Tl a1 gicd IfTe: (4 vii)
Fill in the blanks: (i to vii)

i) el Sl gRT TN Tl ST dTel 33 @1 AT | 6H 3Tded UIW 819 &l
TN BT oo FEd T | (1)

When application received is less then issued shares by a company is called

............... of shares.

ii) 3727 IRVC & YT YT &F Bl oo fafer & affoaa e ST 810 (1)
Received money in against of share warrant is includes in.......... Fund.

iii) T AERER §RT o8 T8 @A &I AR S /A ARGER ... 3rgaTa
frTfre v 21 (1)
Share of good will brought in by the new partner is shared by old partners in
............ ratio

iv) AT ARIER BT bs YA 81 B I Bl ReAfd § I BH gRT <
N R B F B ... gfererd <ot |1 fear ST | (1)

In case the firm is not able to pay cash to retiring partner the firm will pay

minimum .............. % interest on amount able to retiring partner.



Depreciation is a.................... expense.
vi) T UF gR®I BT B & BY H .......... T ST 2 | (1)
The debenture holder are given ............ in return.

vii) AR HFT SR 2013 & TR BT §RT 37H AT W ...
% DI T A ST o BT YT 7 | (1)

According to Indian companies Act 2013 the provision of interest is, at.............. %

on calls in advance.

3)  IffacgwRII® U ¢ (i¥x)

Very short answer type questions : (i tox)

i) e folm # e 9 8 @ R H ARRRI & M0 R o & 99 & R H
ENIEN (1)
Specify the rule of interest on drawing in the absence of partnership deed.

ii)x, vyQd z@m™l &7 1:2:11 H dicd gU AISIGR © | 01 3R 2021 Bl zH G & TS | 31
AT 2022 BT FAT B dTel a9 & T 60000 HUY AT | Id AIEIEGR &I a9 # 2w
ST B | (1)

X, Y and Z are partners sharing profits in the ratio of 1:2:1. Z died on 1st August 2021.
Profit for the year ended 31st march 2022 was Rs. 60000 Calculate deceased partners
share in profit.

iii) 32N gRT AT Hr= # ferenRal &1 <1fie fag IR 9 g § ? (1)
At which amount the liabilities of share holders in a limited company ?

iv) f&T FeoTo=l | 3T T HEd ' 7 (1)
What do you understand by Secured Debentures?

v) IS0, BT QX A gy | (1)

Write the full name of T.D.S.

vi)T® B & A B [JaR0T H 39 oM @1 sl &I #al & A forar? (1)
Give the name of any two items of statement of profit & loss of a company under the
heading of other income?

Vi) Tl T U SRR & AEIER & | SlF T &l 1/4 99 & ford ydwr faar| va, w7 vg
T T =T 9 fIATST 1gurd ST i ? (1)

L and M are equal partners. They admitted N for 1/4 share. Calculate new profit sharing
ratio of L, M and N?

viii) 15T HFO=1 9 AT BFal | BIg &l 3R forlRey ? (1)
Write any two difference between private company and public company?
ix) 3AfEAT / BRIG DI U by PHad & ? (1)

What is Gaining Ratio?



X) FOUF B HFN & g o H fow e & siavfa feamn smar & 2 (1)

In which heading debentures are shown in the balance sheet of the company?

Ylg — ¢
Section-B

THTRTHAS U : (STR G AT I THIT 50 IR

Short answer type questions: (Answer word limit approx: 50 words)

4) TSGR fIeg | oMY T F9d © °3|H oM i S arel dis =R fa=g forRay |
(2)

What do you meant by Partnership Deed? Give any four points to be described in the

partnership deed.

5) Ife fell TG & fUBel 4 qU & ™I BT fd AT 240000 FII 2 TG AR

U &R 10% © | SIaERI B el FHRRI 480000 ®UJ T 9183 ST 80000 WU @

ar 3ia ol @ YoIldRUT & IMER YR AT BT T DI ? (2)

A sum total of last 4 years profits of a business is Rs. 240000 and normal rate of return is

10% Calculate the value of goodwill by capitalisation of average profits if the total assets
of the business is Rs. 480000 and external liabilities are Rs 80000 ?

6) 1T & HIRT oMl I 32 H dicd U WIEER © | S5 Al § A4l Bl aRIeR—aRIER
gic &1 Feey {61 | @I Ud BRIQ & U &1 ITIET HIfoTy ? 2)

Radha and Meera are partners sharing profits in the ratio of 3:2. They decided to share

profits equally in the future. Calculate sacrificing and gaining ratio?

7) Tad, g AT O U BH H 324 H WEER © | 918 ® WAINgd 89 UR US qAl
e A Al DI aRER die DI Feed {HAr| S9 GHI BH Bl TA BT Jedid 1,20,000
SR R e | 99 Enfa @ @ @fd @ 99 | Eaedd o ufaftedr
AT ? ()

X, Y and Z are partners in a firm sharing profits in the ratio of 3:2:1 At the time of Y's

retirement X and Z decided to share profits equally on that time the goodwill of the firm
valued at Rs. 1,20,000 Pass the necessary journal entries for the treatment of goodwill

without opening goodwill account?



8) U&% BH & fdged & 9T Iaxgell WA &1 A1 I 72000 ®UI T | HH & ARIGER R,
3| g THR BT A [T SUTd 7:3:2 T | IGell WA & AT b SRR Bl Ufdfte
Afwy ? @)
At the time of Dissolution of a firm the debit balance of realisation account was Rs.
72000. The profit sharing ratio of the partners Hari, Om and Shankar was 7:3:2. Give the
journal entry of transfer of the balance of realisation account?

9) HFAT SARATIH 2013 BT URT 43 & AR A LT 7 © 2 (2)
What is preference share under the Section 43 of companies Act 2013?

10) R fafacs 7 url fafacs & fafdy awafoat 1500000 ST & @G qor fafae
SFER 300000 ®UY BT Fb &I RERT 41 off | B fafice 7 ufdwa & w9 H
100000 HY FAHE Ud Y RN T 100 HYJ el 9% FIMYH 10% WITHIH TR IR {5 |
R fafics @ gaal # smawad SiHd gfaftedt oo | 2)
Shipra Ltd purchased sundry assets of Rs. 1500000 and also took over the liability to
pay sundry creditors of Rs. 300000. Shipra Ltd paid Rs. 100000 in ~ purchase

consideration and issued 9% debenture of Rs. 100 each at 10% premium for remaining
amount. Pass the necessary journal entries in the books of Shipra Ltd.

11) 71 fqaRoT | <ITeT A1 ST BI ITUMT BITSRI | B & YLATd oM 140000 WU,

PR DI T 30%, 10% QIHdIeTd 0T 500000 BT ? (2)

From the following details, Calculate interest coverage ratio. Profit after tax = Rs.
140000, Tax Rate = 30%, 10% long term loan = Rs 500000

12) 3ifda foffics & U &1 799 S9! g oRTd SHel: 500000 Ud 800000 ®UJ o
R TR i gF %S 350000 T4 440000 ®UY T | @M IUTIRId B & Ugard Il
el I UfIRaT Hoa & 10% oM WR 99 &A1 | |t Ubs Jars S1d dbifog ?

()
Ankit Ltd has two machine costing Rs. 500000 and Rs. 800000 on which accumulated
depreciation was Rs. 350000 and Rs.440000 respectively after charge depreciation on
both machines. They were sold at a profit of 10% on depreciated value. Calculate

total cash flow.



13) ST IR 9% T ®H H WRIER 2 9 ol & 32 # ffod a8 1 S/ 6% 3l
T AR d wU H gdy foar| sue o’ O gRT S1ue Ry BT 1 /4 91T Ud 9
gRT 39 &y &1 1 /3 T AT b | o s vd s &1 a1 o favreE
AT ST IS 2 ()

Jai and Veeru are the partners in a firm. They shares profits in the ratio of 3:2. They

admitted Dheeru as a new partner. For this Jai sacrificed 1/4 of his share and Veeru
sacrificed 1/3 of his share. Calculate new profit sharing ratio of Jai, Veeru and Dheeru.

14) @, ¥ U4 3R Uh BH H WEER & TJADI oY [A9SH U 2101 & | & Bl
QAIGRT IR T TR B & Ui Ul d AR Bl Yol BT STHT Y HAIT: 164000
I UG 82000 WUY & | 8 BH HI Yol 240000 w9 AREd @ T 5 SHl AERR
AT IS U | R | WY ASIERI §RT Al s AT SHDI I B T3 AR D
T X U4 3Maedd Sivel gfaftedi o | 2)

P, Q and R are partners in a firm. Their profit sharing ratio 2:1:1. On Q's retirement after

making all adjustment the credit balances of P's and Q's capitals are Rs. 164000 and Rs.
82000. New firm's capital is decided at Rs. 240000 Which they will keep in profit sharing
ratio. Calculate the actual cash to be brought in or to be paid off to the continuing

partners and pass the necessary journal entries.

15) M@ ® IR W AR G AT YAl Bl qHSSY | 2)
State the meaning of redeemable and irredeemable debentures on the basis of tenure.
Yls — 9§
Section - C

&Y SR T : (STR Tk ™1 ST 100 3R)
Long answer type questions: (Answer word limit approx: 100 words)

16) XM T PO T BH H o B B 31 H dicd gY ABIER & | ITdhI a9y 2021—22
DI 37fTH Yol sHH: 300000 FUY T4 150000 ®UI & | 99 & QR QI @ NS0T
ATl 40000 WYY T 10000 HUY o S8 ST Yoll @rdl § A B (&1 17 o |
Uoll IR &S oW | Yd @™ 32000 WUy o1, fo i I Yol @rdl § ST R
& T T | HWT 01 3[FCER 2021 I IffIRET Yl 32000 FIF HH H AT 7 |
UGSl OR TSl Bl ITVFT 12% Ffaday &I &% A BN | (3)




Ram and Krishna are partners sharing profit and losses in the ratio of 3:1. Their
Capitals at the end of the year 2021-22 were Rs. 300000 and Rs. 150000. During
the year the drawing was Rs. 40000 and Rs. 10000 respectively which had been
duly debited in their capitals. Profit before changing interest on capital for the year
was Rs. 32000 which had also been credited in their profit sharing ratio. Krishna
brought an additional capital of Rs. 32000 on 01 October 2021. Calculate
interest on capital @12% p.a. for the year.
31qq1r/OR

M, T 3R AGT U BH H o™ Bl ®I 3211 § dicd 8¢ WIBIER © | AISER]
Helg @ 3T AR—

1) ATRIERT BT Goll TR TS 5% al¥d oA BT |

2) T BT 50000 W/UY DI ATH DI TR BH §RT & T3 T |

3) WIEIGRI & Yoil WAl & URME S ¥ HAE IM— 500000 ©UI, TTH—

300000 ST 3R AIET— 100000 HUY o |

4) JMERVT TR FTol HAI: MA— 1000 HIY TH— 500 HYI AR AGT— 500 ST

I far S 2 |

Y 2021—22 H HBH BT @4 1,71,000 BYI AT | 99 2021—22 & foT¢ a9 &I

ERISEECISIICRIERE

Ram Shyam and Mohan are partners of a firm sharing prohit in the ratio of 3:2:1 . Their
partmership deed provides the following-
(1) Intenest on Capital payable to partners @ 5% p.a. .

(2) Guarantee of profits to shyam Rs 50,000 given by firm.

(3) Opening balances of partner's capital a/c respectively Ram - Rs 500000, Shyam - Rs 300000
Mohan - Rs 100000 .

(4) Interest on drawing to be charged as Ram- Rs 1000 . Shyam -Rs 500 and Mohan - Rs 500.

Profit for year 2021-22 was Rs 1, 71,000. Prepare Profit & Loss Appropriation account for the
year 2021-22.

17)  ®H & fdged R 4 agRl & JoHmar ufaftea dfivr — (3)
HIfRd & §RT BriTeR Bl 40000 HU H foram a7 |

R 3IRad FHRT ®I 99 IR 25000 WU G gU |

gl R ™ B IR 75000 wUI Pl Alfed G Afed 7 3:2 H A9Ii7d foban |

Give the journal entries from the following transaction on the dissolution of the firm -

Furniture is taken over by Mohit at Rs. 40000



Rs. 25000 realised from the sale of an unrecorded asset.

Profit on realisation amounting to Rs. 75000 distribute between Mohit and Rohit in the

ratio of 3:2

3d1/OR
e BH faged a1 8 ? AEer &l e iR AEeR) BH & faged # ofax
TSy |

What is dissolution of a partnership firm? Write distinction between dissolution of

partnership and dissolution of partnership firm.

18) Fr=IfTRIT FaTrall & @UTRe YISl 3ATde 7T BI ITUET HITSTY — (3)
Ul ¥ el ANH = 800000 WU

U™ § Feha N = YTl | del JATTH Bl 15%
1 31T 2021 I JTURE YT =60000 HTJ
31 AT 2022 P ARG YT = 100000 HIY

Calculate Trade Receivables turnover ratio from the following information.
Total Revenue from operations = Rs. 800000
Cash Revenue from operations = 15% of total revenue from operations
Trade receivables as at 01.04.2021 = Rs. 60000
Trade receivables as at 31.03.2022 = Rs. 100000

311d1/OR

MY Uh HH bl K0T I &THAT BT I b HYl ?

How would you study the solvency position of a firm ?
19) Frr=forRad gaemell 9§ fawi fhardedl | b Yarg & UReaT & —  (3)

01 3TUST 2020 BT SIHdTT T =1200000 HII

31 A 2021 I STHBICT FEIT =1400000 WU

Iy & SRIE HHIT - 300000 ®UA & N DI Fabell fobaT |

Calculate cash flow from financing activity from the following information.
Long Term Loans as at 01.04.2020 = Rs. 1200000

Long Term Loans as at 31.03.2021 = Rs. 1400000

During the year the company repaid a loan of Rs. 300000



31d1/OR
e YaTg fqaRor 999 &1 7 IGee & 7 Uarel il ¥ Jdhs iddig AR yare

foharell | b 9fdig Gael A< 9dsu |

What are the objectives of preparing cash flow statement? Write the name of items

related to cash inflow from operating activates and cash outflow from operating
activities.

Yls —
Section - D
frdaTHe U3 : (STR Wsq HIAT N THIT 200 Teq)
Essay type questions: (Answer word limit approx: 200 words)

20) 3TR 3R 3[HER Uh HH H ARIER B 9 M &I 21 § dicd 8| T BH § 1/4
N & o) Uder o_al 21 98 HH H 300000 wUY @1 YSil ofdhx RAM | AR G 3HaR
D Yol D A9 [IHTS ITUTd @ STMUR W FHRIST &I SIRAT | 31 ATE 2022 Pl
TRI @ Ul W Yd BH Bl fAgr FeEforiad v — (4)

31 9T 2022 BT MR T 3haN BT gT

RIS R () | gRFHET IR (%6.)
IR 80000 TERY HS 20000
<7 fau= 40000 CEaSINETSS 100000
NIGI SR 60000 fafdy < IeR 80000
goil SSIED 100000
3R 500000 HHATER 50000
3ThHeN 320000 | 820000 ENIER 250000
I 400000
1000000 1000000
TSI B Y I T -

1. T=IMI 120000 B9 BT IR ST & T H ARAM |

2. SERI W 6% B &R W S KU & [ord Yrggm o |

3. 999 450000 HYY T4 HIFNI 230000 HUR TR HAifdhd B SR |

4. TTe] WA WIABR AR, HAR R YA B Yol & FHRISH fhar SR |
3eTDh TSI AT Yol & YdSl & Ygerd Jolis U3l daR B |




Amar and Akbar are partners in a firm. They shares profits in the ratio of 2:1.

Anthony admitted in the firm for 1/4 th share. He will bring capital of Rs. 300000.

The capitals of Amar and Akbar will be adjusted in their profit sharing ratio. The

Balance sheet of the firm as on 31st March 2022 before the admission of Anthony.
Balance sheet of Amar and Akbar as on 31.03.2022

Liabilites Amount (Rs.) | Assets Amount (Rs.)
Creditors 80000 Cash in hand 20000
Bills Payables 40000 Cash at Bank 100000
General Reserves 60000 Sundry Debtors | 80000
Capital Stock 100000
i 50000
Amar: 500000 Furniture
820000 ' 250000
Akbar: 320000 Machinery
400000
Building
1000000 1000000

The other conditions of the agreement are :-
Anthony will bring Rs. 120000 as his share of goodwill.
Provision on Bad Debt will be made at 6% on debtors.

Building and Machinery will be valued at Rs. 450000 and Rs. 230000

> » b=

The capital account of Amar, Akbar and Anthony are to be adjusted by opening

current account.

Prepare necessary ledger accounts and Balance Sheet after Anthony admission.
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Explain the meaning of goodwill. Describe the different methods of calculation of
goodwill.
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Delux Ltd issued 50000 equity shares of Rs. 10 each at 10% premium. The
amount payable on each share as follows:-

On application - Rs. 3 per share

On allotment - Rs. 4 per share (including premium)

On 1* Call - Rs. 2 per share

On 2™ Call - Rs. 2 per share
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Sunshine Ltd. offered for public subscription 10000 shares of Rs. 10 each at Rs. 11 per share.
The amount payable on each share as follows:-
On application - Rs. 3 per share
On allotment - Rs. 4 per share (including premium)
On 1 and Final Call - Rs. 4 per share
Applications were received for 12000 shares and the directors made pro-rata allotment to all.

Mr. Ajay who applied for 120 shares could not pay the allotment and call money.
Mr. Vijay holder of 200 shares failed to pay the call money.
All these share were forfeited. Record the Journal Entries for the above transactions.
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Alfa 1td has issued 100000, 8% debentures of Rs. 100 each at a discount of 9% on

January 01, 2021. The company has balance of Rs. 800000 in securities premium reserve.



If the debentures are redeemable after 5 year at a premium of 5%. Pass necessary journal
entries for issue of debentures and write off discount/Loss on issue of debentures.
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What do you meant by debentures issued as collateral securities? How it is shown

in the books of accounts?





